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FEEF P& F 54 B = 104 205 3049 6045 9045 1205 | 1504 | 180%
1/2 | 2# 91.2 72.6 61.3 433 34.2 286 24.8 21.9
t + 11.96
1/3 | 0_7711669'4 102.0 81.3 68.9 49.2 39.2 330 28.7 25.6
t +10.47
_ 1610.1
1/5 |rs =7 113.0 90.5 77.1 55.9 451 384 33.7 30.2
t + 8.86
1/10  |rio = 0,6415250'8 127.6 101.7 87.1 64.4 53.0 458 40.7 36.9
t + 5.39
_ 839.8
1/20 |2 = —70 142.1 112.3 96.5 72.8 61.0 53.7 484 445
t +2.45
_ 631.2
1/30 |rs0 ST 105 150.0 118.0 101.6 71.7 65.9 585 53.3 493
_ 443.9
1/50 |rso = —5o1 159.7 125.2 108.3 84.1 72.4 65.1 59.9 55.9
t +0.32
B 265.2
1/80 |rso =TT, o0 169.2 1315 114.0 89.9 78.5 71.4 66.4 62.5
204.8
1/100 |rie = T L oo 1735 1344 116.7 92.8 815 745 69.6 65.8
_ 118.0
1/150 |niso = P 182.6 140.6 1225 98.6 875 80.7 76.0 72.3
_ 63.6
1/200 |20 = —7 186.4 143.1 125.0 101.7 91.1 84.6 80.1 76.7
t +-0.95




